»280.00 H.C.
REF.

O

5
\\
%

M22x1.5-6H THRU
PUSHER HOLES

INPUT SPEED SENSOR PORT

5/8-18UNF-2B TH'D.

TARGET WHEEL 64 TEETH

~ \\ i
©
12X ¢23.00 THRU
SECTION A-A
877.0

SEE NOTE "C"

MAIN PRESSURE PORT
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 20+2 Nm

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

6X ¢35.0 THRU /

3 EACH SIDE

TEMPERATURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
(BEFORE HEAT EXCHANGER)
TIGHTENING TORQUE 20+2 Nm

MAIN PRESSURE PORT
M12x1.5 METRIC PORT

CONFORMS TO ISO 6149
CONNECT OIL PRESSURE
GAUGE LINE HERE.

~

~

~—————— (»340.0 —— =

®174.98810.012

TIGHTENING TORQUE 16+1.5 Nm

&)

TRAILING PUMP PRESSURE
AND TEMPERATURE PORT
1/4-18 NPTF TAP

TIGHTENING TORQUE 34+4 Nm

PRESSURE PORT

OIL OUT TO HEAT EXCHANGER
SAE 37° STR THD FLARED FITTING
17/8-12 UN-2B THD (SAE J514)

653.0 - — PILOT
— 600.5 - . ® %
|t . — [
- 437.0 - ©g’ o §
o2
ny
| \ | ] I T
T
%‘ — N l 1
— — a
s 1D/ O !
|' ” AN N\ \ © o o
Ho_ o) 4 . 3
I g o) | ﬂ | o ! =
NN S
) | | ~ i
© O O i 8
) s &
O ‘
> § &
I @ @ ]
o |

SECONDARY CLUTCH (FIRST)

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 16+1.5 Nm

OIL GAUGE

SEE NOTE "B"

— \ 837.7
]

19(8)

TEMPERATURE AND j
LUBE PRESSURE PORT
M27x2.0 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 75+7 Nm

MAIN PRESSURE PORT
M14x1.5 METRIC PORT

CONFORMS TO ISO 6149 @
TIGHTENING TORQUE 20+2 Nm

TRAILING PUMP INLET
M16x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 16+1.5 Nm

PRESSURE PORT
M14x1.5 METRIC PORT

\ TEMPERATURE PORT

M27x2.0 METRIC PORT
CONFORMS TO ISO 6149
(AFTER HEAT EXCHANGER)

TIGHTENING TORQUE 75+7 Nm

SECONDARY CLUTCH (FIRST) @

TIGHTENING TORQUE 20+2 Nm

CONFORMS TO ISO 6149

17/8-12

OIL IN FROM HEAT EXCHANGER
SAE 37°

STR THD FLARED FITTING
UN-2B THD (SAE J514)

NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE SECONDARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE PRIMARY CLUTCH.

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION.
2. CURRENT =20 AMP MAX.

3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

APPLICABLE MODELS:

ENGAGES PRIMARY CLUTCH

SEE NOTE "A"

ENGAGES SECONDARY CLUTCH

SEE NOTE "A"

TEMPERATURE AND

- MGX-61500SC-HL PER ASSEMBLY 1023610
- MGX-62000SC-HL PER ASSEMBLY 1026779

EQUIPMENT SHOWN:

- FREE STANDING HUB 1023810D

- GP VALVE WITH EC050 MODULE

- TRAILING PUMP

- 1016428AZ MOUNTING BRACKETS

1 | INPUT GROUP REFERENCE PLANE

2 | PTO ADAPTER MOUNTING FACE

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

TEMPERATURE AND
LUBE PRESSURE PORT
M27x2.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 75+7 Nm

SECTION F-F

BREATHER
REMOVE FOR OIL FILL

O

— I i = LUBE PRESSURE PORT
= [ M22x1.5 METRIC PORT
OIL FILTER = CONFORMS TO 1SO 6149
o O 24 mm CLEARANCE REQUIRED i o TIGHTENING TORQUE 54 +5 Nm
J ‘ TO REMOVE FILTER CANISTER. -
/ TIGHTEN FILTER AN ADDITIONAL
m 1/2 OF TURN AFTER FILTER — . p———
O) GASKET MAKES CONTACT R.H. ENGINE ROTATION 1 CENTER OF GRAVITY
DRIVEN THROUGH PRIMARY c lﬁ\
_/
g I - : %
| L / _ i
X O o O Ol [ N < i
} = SECONDARY CLUTCH (SECOND)
INSPECTION COVER _ PRESSURE PORT y
D i O 2 M14x1.5 METRIC PORT (
= O CONFORMS TO 1SO 6149
N : 3 TIGHTENING TORQUE 20+2 Nm
\ — N _—GREASE FITTING .\ )
= A ] - $400.00 REF. H.C. \ . A NS
- O O O i @ @, i
|
! EY O O O O TRAILING PUMP OIL STRAINER & Q
i 112 mm CLEARANCE REQUIRED CENTER OF GRAVITY
i o TO REMOVE OIL STRAINER ) 2
| | O O l / \ \ %‘ \
O — |
l 7
. Z Q
N O O O 7 !
I E g - © ] INPUT SHAFT ¢ -
| O O (LQ @)
. l s 0 /
— o o — —
80 ! S o '
| ’ - 852§ ' T
\%E |5 v o | A o R i sy <0 9 A P S = : ‘
< — o
I = — — N ®) - )
L Q /\ ™0
- - O []O © O 5 ) ¢
! a E ( OUTPUT SHAFT ¢ — O ="
' | T 5 \ v O ]
| - ( 8 ( M
| E © 18X (30.5 THRU | S = N :
( | | Y EQUALLY SPACED = A ]] {
I —EE \J |
|
' lo |o o] w. o : Q @
! = O 0 I~
. [ : O~ o —
& PRIMARY CLUTCH (SECOND)
! o PRESSURE PORT
! M14x1.5 METRIC PORT | i
If > ® CONFORMS TO ISO 6149 N i
L o A TIGHTENING TORQUE 20+2 Nm
i
% o ool ! . i |
@ Q
Q
Q& % ) @ %60.0 THRU
= 1 - HOLES TO BE USED FOR LIFTING
! MARINE TRANSMISSION ONLY.
265.9 — ] EQUALIZE LOAD BETWEEN LIFTING
POINTS TO LIFT MARINE TRANSMISSION.
R.H. ENGINE ROTATION - 377.0 —
DRIVEN THROUGH SECONDARY '
| 815.10
®60.0 THRU
- 1098.1 - HOLES TO BE USED FOR LIFTING OIL DRAIN
MARINE TRANSMISSION ONLY. ®) FLANGE SIZE 51 PER
OIL STRAINER EQUALIZE LOAD BETWEEN LIFTING ISO 6162 (CODE 61)
26 mm CLEARANCE REQUIRED OUTPUT SPEED POINTS TO LIFT MARINE TRANSMISSION. OIL DRAIN M12x1.75, 30.0 DEEP
TO REMOVE TUBE TO ACCESS | SENSOR BRACKET S M TR R
OIL STRAINER TARGET WHEEL: 80 TEETH i GHT%TE\L % KSSEQFE’EEQ%‘%E%'S“ C [ECNWF-23526[ 07/01/2013
7 mm
TO REMOVE PLUG . .
FIRST USE ASSEMBLY: 1023610 2152.61 MATERIAL: DATE:
FIRST USE MODEL: MGX-61500SC-HL e ¢ @3 G ;Egﬁzé¥%ﬁ 09/3.0/2009
SMILAR TO: ik o HEAT TREAT: s RACINE, WI 53403 - USA
M ET R C UM ACHINED DIVENSIONS DRAWN BY:
X. +0.75 MDL
T R T T ST %008 PESCRPTON Hes” 1025259 A
TWIN DISC, INCORPORATED e Ry NP INSTALLATION (B) APPROVED BY: [DWG SHEET REV:
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS T .
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX'615008C'HL, MGX'62000 C'HL ALC SIZE: AO 1 OF 1 C




	Sheet1
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Section View A-A
	Section View F-F


